Quadratic Form and Radical Equations [PT 99-23]

Solve

1) Jx-2=x-4 2) Jx—2=22-x

3) J7y+4-2=y 4) 5a—-+/2a—-3=4a+9
5) 3x+4 =2++/x 6) J3-2a—+3-3a=-1

Solve for the given variable.

7) J3a—x=b (fora) 8) K= /? (for s)

9) S, =S,v1-R? (forR)

Solve
10) x*+x*—20x=0 11) 2t* —34t* =-32
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12) a®-2a’-4a+8=0 13) x3=9
LA
14) x®—4x%=-3 15) x?-2x*-15=0
16) x*-3x2=4 17) Jy+24y =3
18) 3(2x-1)"-1=0 19) (x—1)"~3(x-1)=10

2
20) (X—I-Ej —15(x+gj+56=0
X X

Answers: 1) x=4 2)x=18 3)y=0,3 4)a=14 5)x=04 6)a=-11

2 2 2 /SZ_SZ
7)a:X +2>3<b+b 8) SZ'L 9) R:% 10) x=-5,0,4 11) t=14, +1

y

12)a=+2 13)x=+27 14)x=1,27 15) x=-—

3+./3

18) x=""= 19)x=-16 20)x=23,46

16) x=+%, +i 17)y=1
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